S SMILES

PROBLEM SOLVING 2
Solve the following problems and write the answer statements.

Q1. There are total 135 students in the class. If 67 students have paid for the picnic, then how much
students are not going on the picnic?

Q2. | had only Rs. 48 in my pocket but | wanted to buy an ice-cream which cost Rs. 70. How much
more money will | need to buy the ice cream?

Q3. There were 234 candles lit up at the church. When the wind blew 189 candles were blown out.
How many candles were still lit up?




